W0 YRID/T VYRT ORI XMP X22 noon M AT TIOY Y BT

20.4.06; 41a (' mwn) 2 42a (7378 73 RTN 279)

o 7109 83 P10 mow PY WYD YV 1192 Ix 5K 57D YR 1P NNY YR NR IR WR NR W NP 0 L7
72100 1 779 £237:92UN DY 72PN INRY VD PIOR D OR 2

29,87 mpw 109992 TN YR YP2 1YOY MY YR WIY? WY JIOR 1277 KDY 10727 IRY N0 NWR 1)) DOYIR 1N 0 3

I ’n mwn:an ox that kills a person
a  if he kills any freeman, regardless of age, he is killed; if 791 — also pays 191if on — exempt from 1912
i question: if he’s killed as a on, how could he ever get to the status of Tyn?
1 Rejected answers:he did something less than killing free n'9%1w 3 times (chased them, mortally injured people,
killed animals, killed non-Jews, killed dying people)
(a) Reason for rejection: none of these establish mTyn for killing 0987w’ who are otherwise healthy
2 Answerl (979): everytime he killed, he ran away and 7”2 couldn’t get to him to kill him
3 Answer2(xnn 7): the o1y of the 1st times were nnn; after the 31 time, their accusers were accused of nntn
(a) challenge: this is only valid if they were coming to testify about the ox;
(b) But: if they were testifying about the owner, he can say that he had no reason to watch the M since the
witnesses were disproven via nnti, on which he relied
(i) answer: if they testify that he was standing there every time it gored
4 answer3 (x127): they know the owner but not the 1w, and he now knows that he has to watch all of his D mw
b if he kills a slave, liable for 30 »’»Yv, regardless of value of slave
II Interpretation of v. 1:
a  Question: We already know that Ypoin 7 is a n%21 (since it was stoned); why say %8> X5?
b answer: teaches that if he slaughtered it after 17 913 — it’s prohibited nonetheless; 'p1 MMWN Ypa extends it to NRIN MOR
i Challenge: perhaps 38> XY teaches nRIN MOR after nY’po (but N'NY renders it fit) —
1 Asper: 8™ who taught that, unless noted otherwise, (e.g.) ¥9a8n & always includes both nxim n%ar Nor
ii ~ Answer: that only holds where n%3R8 MY’X is derived from (e.g.) 19980 RY; here it is from Ypv’ Mpo
(a) Proof: if the only intent was to teach nXin MR, let it state M’ K
iii ~ Challenge: perhaps the mox only applies if he used a flintstone (looks like n%pv), but not a knife
1 Blocks: “knife” isn’t written anywhere in 710 and all such tools are equally valid for no'nw
iv  Consider: now that both nXim 15X MR are inferred from Yar’ ®Y, what is 'p3 MWN Yva teaching?
1 Answerl: extends nR1n O to pelt (not 1w1)
2 Answer2: teaches exemption from 1913 >¥n (if on) and m1on 17
(a) Note: those who use *p1 1wn Hya for 1913 ’'¥n etc. derive Y NRIN NOR from extra word (11w1) NR
(b) response: as per those who don’t see nR as extension (debate about v. 2 and »"1’s solution)
¢ further interpretation: meaning of ’pa 1wn Hya:
i R™M-"p1” - exempt from V271913
ii  y™ — this is obvious, since he is stoned and all payments would come from his body (on)
1 1x": only intended his interpretation when the ox isn’t being killed, e.g. only 1 witness or owner admitted
(a) block: if owner admitted, there is no liability at all (oapa nTIN)
(b) answer: X" may hold that ®1915= 1793 and it wouldn’t be exempted without explicit exclusion
2 28™:only intended his interpretation when the ox intended to kill someone w/o liability (animal, »xn etc.)
3 question: which answer did 8™ give first?
(a) 1R17 (X3 M): the latter, grabbing any answer that seems to work
(b) 2817 ("nav "): the former, leaving it and taking the better one (after which he wouldn’t use the weaker one)
d  Another interpretation: excluding liability for non (3"n”)
i Dissent: "1 —v. 3 excludes oxen as it stipulates D*Wix as the aggressors
ii  Counter: R"10 only oxen akin to people (1 1»1n) are exempt, leaving on MW as liable for m75n n7
1 Challenge (#37): how could T be less severe than on?
iii ~ Rather: R"™10 people, not oxen akin to people (T79n) are liable, v/p for on, to which nmn states 'py Mwn Y1 >1vn is liable
1 Challenge (»ax): why not interpret and apply nwia in same way > 7 is liable for nwa
iv  Rather (X271 »3K): if there is no tragedy (woman lives) — people have to pay; if she dies — exempt; oxen pay in any case
1 To which: nmn states 'p1 MW YY1 > exempt from MM N7
v Challenge (¥”2%7): DOR is not the threshold — intent is:
1 Therefore: people are only liable if they intend to hurt each other (not the woman); oxen are liable in any case
2 To which: nmn states *p3 MVN YY1 2 exempt from MTYN 0T (RN»72 supports R”aRY's take)
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